Greatest Common Factor
Least Common Multiple

Name

- GCF

Factor: numbers that are multiplied to give a
product

EX: Find the GCF of 12 and 30

12 30
1, L2 S0
256 2915
3.4 3,10

5, (6

The largest factor in common is Q

You Try

* Find the GCF of 27 and 54.

—

2. Find the GCF of 28 and 84.

LCM

Multiple: SKIP COUNTING
The product of the number and
another whole number

EX: Find the LCM of 12 and 30

12: 12, 24, 36, 48, 60, 72, ....
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The smallest multiple in common is 60

You Try

1. Find the LCM of 8 and 10.

2. Find the LCM of 6 and 14.




1. Last summer, Karl went to the beach every 7 days. Antonia went to the beach every 3 days. How often did they see each
other at the heach?

Last surnmer, Karl and Antonia saw each other at the beach every days.

2. Stiing Lengths You have two pieces of string. One is 8 cm long. The other is 20 cm long. You want to cut each
piece of string into smaller pieces of equal length. Each length is to be a whole number of centimeters. List all the
possible lengths of the shorter pieces. What is the greatest common length from these two lists?

3. Winning Numbers A group of people are waiting in line for a movie premiere. Every 15th person in line will receive a

free movie ticket. Every 6th person will receive a gift card for $35. Which person is the first to win both prizes? If there
are 200 people 1n line, how many people will receive both prizes?

The th person in line is the first person to win both prizes.

If there are 200 people in line, people will receive both prizes.

Hint: Skip Count to 200 and see how many common multiples there are. ~
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The largest factor in common is 6

You Try

* Find the GCF of 27 and 54.
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LCM

Multiple: SKIP COUNTING
The product of the number and
another whole number

EX: Find the LCM of 12 and 30
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The smallest multiple in common is 60

You Try

1. Find the LCM of 8 and 10.
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2. Find the LCM of 6 and 14.
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1. Last summer, Karl went to the beach every 7 days. Antonia went to the beach every 3 days. How often did they see each
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Last summer, Karl and Antonia saw each other at the beach every Z \ days.
2. ©Stiing Lengths You have two pieces of sting. One is 8 cm long. The other is 20 cm long. You want to cut each
ptece of string into smaller pieces of equal length. Each length is to be a whole number of centitneters. List all the
possible lengths of the shorter pieces. What is the greatest cormon length from these two lists?
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3. Winning Nwnbers A group of people are waiting in line for a movie premiere. Every 15th person in line will receive a
free movie ticket. Every 6th person will receive a gift card for $35. Which person is the fiTsttowin both prizes? If there

are 200 people in line, how many people will receive both prizes?
"/.‘ WAl . -
35 (), 165, {80) 195 2
) } ] !

50 15,6995, 15 69, 108,
Q2 7 2 i 9 > /ﬁ} | = iy ) @ O Ll ‘

CO' Loyﬁq"wl%}z'q‘é@ﬁ“j{o* L HB‘;}".E@)UL&) Seppiier JH@
IG, 1og, log, r\m‘ |24, 132 158 i1, ;12

ey, 174, (189) 180, 192,198 204
The 2) O th person in line is the first person to win hoth prizes.
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If there are 200 people in line, (-D people will receive both prizes.

Hint: Skip Count to 200 and see how many common multiples there are. ~



